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ENGLISH VERSION

Instruction : All the questions are compulsory.

1  Answer the following : 20

(@ Cost function of a commodity is

C = x> 10 = 3x% = 90x + 500. Find x for Mini. cost and
Mini. cost.

(b) Demand and supply functions of a commodity are :

D :(x+10)(p+20)=300,

S:x=2p-8 find equilibrium price and quantity.

(©0 Demand function of a commodity is x=30—\/;.

Calculate elasticity of demand when price of a commodity
is Rs. 100.

(d) Distinguish between Demand and Supply function

3 /40—3p
1 x= 5

30
@ x=100-—
p
OR
1  Explain the following terms : 20

(1) Market equilibrium.
(2) Elasticity of demand.
(3) Total Revenue and its uses

(4) Steps for the minimisation.
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2 (a)
(b)
2 (a)
(b)
3 (a)
(b)

Cost and demand function of a monopolist are

C=x2/25+3x+100 and x=75-3p find

(1) x for Max. profit.
(2) Max. profit.
(3) Price for Max. Profit.

A monopolist produced two different articles.

10

10

Their demand functions are p; =40-5x), p, =30-3x,,

Find pi, P2, X1, X2 for Max. profit, if C = xlz + 2x1xy + 3x§.

OR
Explain in brief :
(1) Monopoly
(2) Demand and Supply
(3) Production function.

Verify and prove Euler's theorem for

Z=f(x,y)=x3+x2y+xyz+y3

10xy —y—x
Xy '

Production function Z = f(x, y) =

and per unit value of x, y and z are 4, 4, 9. Find Max.

profit.

Utility function of a consumer is
U=24x+48y - X2 - y2 and Budget equation is

x+3y=14. Find x and y for Max. utility.

OR

10

10
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(a) Explain in brief :

(1) Utility

(2) Total utility

(3) Marginal Utility.
(b) Explain in brief :

(1) Marginal cost

(2) Average cost

(3) Budget equation.

Technology co-efficient Matrix for 3 industries is given

below :
03 02 0.2 80
02 01 05 and final demand = 30
02 04 0.2 50

Find total production of industry A, B and C.
OR
(a) Explain :
Assumptions of I/O Analysis.
() Explain brief :
I/O Analysis for 2 industries.
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